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ö£õx AÔÄ 

GENERAL STUDIES 
uõÒ – II 

PAPER – II 

Põ» AÍÄ  : ‰ßÖ ©o ÷|μ®   ö©õzu ©v¨ö£sPÒ : 300 

Duration : 3 Hours                                                 Total Marks : 300  

(CÆÂÚõ&ÂøhzuõÒ öuõS¨¦ 92 £UP[PøÍU öPõskÒÍx) 
(This question-cum answer booklet consists of 92 pages) 

AÔÄøμPÒ/Instructions 

(RÌUPsh AÔÄøμPøÍ Âsn¨£uõμºPÒ uÁÓõ©À ¤ß£ØÓ ÷Ásk®) 

(Candidates shall comply with the following instructions) 

1. Âsn¨£uõμºPÒ, CÆÂÚõ&ÂøhzuõÒ öuõS¨¦ ö©õzu® 92 £UP[PøÍU öPõskÒÍx 

Gß£øu •u¼À EÖv ö\´x öPõÒÍ ÷Ásk®. CzöuõS¨¤À H÷uÝ® SøÓ£õi¸¨¤ß, 

EhÚi¯õP ÷ÁÖ öuõS¨ø£ ÷uºÄU PsPõo¨£õÍ›h® ÷Põ›¨ ö£ØÖU öPõÒÍ ÷Ásk®. 

 Candidates shall first ensure that this question-cum-answer booklet contains 92 pages. 
In case if any defect is found in this booklet, they can request for replacement from the 
invigilator immediately. 

2. JÆöÁõ¸ ÂÚõÂØS® uÛzuÛ¯õP Âøh GÊxÁuØöPÚ Ch® JxUP¨£mkÒÍx. 

Âsn¨£uõμºPÒ JÆöÁõ¸ ÂÚõÂØS® Âøh¯ÎUP JxUP¨£mh ChzvÀ ©mk÷© 

Âøh¯ÎUP ÷Ásk®. Âøh¯ÎUP JxUP¨£mh ChzvØS öÁÎ÷¯ Gøu²® GÊuUThõx. 

 Space has been provided to write the answer for each question. Candidates have to 
answer the questions only in the space provided for that question. They should not write 
anything outside the space provided.   

3. Âsn¨£uõμºPÒ ÂÚõzuõÎß JÆöÁõ¸ ¤›Â¾® AÔÄÖzu¨£mkÒÍ GsoUøP°»õÚ 

ÂÚõUPÐUS ©mk÷© Âøh¯ÎUP ÷Ásk®. AuØS ªøP¯õÚ GsoUøP°»õÚ 

ÂÚõUPÐUS Âøh¯ÎzuõÀ, JÆöÁõ¸ ¤›Âß •iÂ¾® ªøP¯õÚ GsoUøP°À 

Âøh¯ÎUP¨£mhøÁ PnUQÀ GkzxUöPõÒÍ¨£h ©õmhõx. 

 Candidates should answer as many number of questions as instructed in the question 
paper in each section. If more than the required number of questions are answered, the 
answers written at the end of each section will not be taken into account. 

4. CÆÂÚõ&Âøhz öuõS¨¤À ÂÚõUPÒ uªÌ ©ØÖ® B[Q» ÁiÁ[PÎÀ EÒÍÚ  

(A»S – II Iz uÂμ) AøÚzx CÚ[PÎ¾® B[Q» ÁiÂÀ uμ¨£mkÒÍ SÔ¨¦P÷Í 

•iÁõÚøÁ. 

  In this question-cum-answer booklet, questions are in Tamil and English versions 
(Except unit – II). In all matters, English version is final. 
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5. Âsn¨£uõμºPÒ C¢u ÂÚõ&Âøhz öuõS¨¤¼¸¢x G¢uz uõøÍ²® QÈzxÂhU Thõx. 

 Candidates should not tear off any leaves from this question-cum-answer booklet. 

6. Cz÷uºøÁ ö£õÖzuÁøμ, AÇPõP GÊxÁuØPõPÄ®, ¤øÇ°À»õ©À GÊxÁuØPõPÄ® 

uÛ¯õP ©v¨ö£sPÒ JxUP¨£hÂÀø». 

 There is no reservation of marks for neatness of writing and correctness of spelling in 
respect of this examination. 

7. Âsn¨£uõμºPÒ Piu ÁiÂ»õÚ ÂÚõUPÐUS Âøh¯ÎUS® ö£õÊx u[PÍx ö£¯øμ÷¯õ, 

£vöÁsøn÷¯õ GÊuUThõx. u[PÍx ö£¯›À øPö¯õ¨£ªhÄ® AÝ©v°Àø». 

AÆÁõÓõÚ ÂÚõUPÐUS £v»ÎUS®ö£õÊx ÂÚõUPÎÀ SÔ¨¤h¨£mkÒÍ ö£¯º ©ØÖ® 

•PÁ›ø¯÷¯ £¯ß£kzu÷Ásk®. 

   ÂÚõUPÎÀ ö£¯º, •PÁ› BQ¯øÁ SÔ¨¤h¨£hÂÀø»ö¯ÛÀ, ‘AÝ¨¦|º’, 
‘ö£Ö|º’ •PÁ›PÎÀ A B C AÀ»x GUì J´ C\m AÀ»x GUì GUì GUì ÷£õßÓ ö£õx¨ 

ö£¯ºPøÍ ©mk÷© GÊu÷Ásk®. 

 Candidates should not write their name, register number while answering letter type 
questions. Putting signature in their name is also not permitted. To answer such 
questions, the name & address given in the questions alone should be used. 

   If no name is given in the questions, they should write the general names like  
ABC or XYZ or XXX in ‘From’ and ‘To’ addresses. 
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A»S — I 

UNIT — I 

¤›Ä — A 

SECTION — A 

 SÔ¨¦ : i) JÆöÁõ¸ ÂÚõÂØS® 150 ö\õØPÐUS ªPõ©À Âøh¯ÎUPÄ®. 

 Note :  Answer not exceeding 150 words each. 

   ii) JÆöÁõ¸ ÂÚõÂØS® £zx ©v¨ö£sPÒ. 
    Each question carries ten marks.          

    iii) öPõkUP¨£mkÒÍ I¢x ÂÚõUPÎÀ GøÁ÷¯Ý® |õßS  ÂÚõUPÐUS 

©mk® Âøh¯ÎUPÄ®. 
     Answer any four questions out of five questions.  

(4  10 = 40) 

Q.No. 
1 

C¢v¯ Aμ]¯»ø©¨¦ \mh v¸zuzvß ÁøPPøÍ öÁÎUöPõnºP ©ØÖ® \mh 

v¸zuzvß ÁÈ•øÓPøÍ ÂÍUSP. 

Bring out the types of Amendments to Indian Constitution and explain the 
procedure for Amendment. 

Âøh / ANSWER 
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Q.No. 
2 

 

2018–® Bsk öhÀ¼°À |øhö£ØÓ H]¯õß – C¢v¯ {øÚÄ Ea] ©õ|õmiß 

ÂøÍÄPÒ SÔzx ÂÁõv. 

Discuss the outcomes of ASEAN – India commemorative summit held at Delhi in 
the year 2018. 

Âøh / ANSWER 
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Q.No. 
3 

•uÀ {ºÁõP ^ºv¸zu Bøn¯® ©ØÖ® \ºPõ›¯õ Bøn¯zøu J¨¤kP. 

Compare First Administrative Reforms Commission and Sarkaria Commission.  

Âøh / ANSWER 
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Q.No. 
4 

©zv¯ ö£õx PnUS uoUøP¯õÍ›ß AvPõμ® ©ØÖ® £oPøÍ ÂÁ›.  

Describe the duties and powers of Comptroller and Auditor General of India.  

Âøh / ANSWER 
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Q.No. 
5 

Ai¨£øh E›ø©PÒ ©ØÖ® Aμ]ß ÁÈPõmk ö|Ô•øÓPÐUQøh÷¯¯õÚ 

÷ÁÖ£õkPøÍ öÁÎUöPõnºP. 

Bring out the differences between fundamental rights and directive principles of 
state policy.  

Âøh / ANSWER 
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¤›Ä — B  

SECTION — B  

 SÔ¨¦ : i) JÆöÁõ¸ ÂÚõÂØS® 250 ö\õØPÐUS ªPõ©À Âøh¯ÎUPÄ®. 

 Note :  Answer not exceeding 250 words each. 

   ii) JÆöÁõ¸ ÂÚõÂØS® £vøÚ¢x ©v¨ö£sPÒ. 

    Each question carries fifteen marks.         

   iii) öPõkUP¨£mkÒÍ |õßS  ÂÚõUPÎÀ GøÁ÷¯Ý® ‰ßÖ  ÂÚõUPÐUS 

©mk® Âøh¯ÎUPÄ®. 

    Answer any three  questions out of four questions.  
 (3  15 = 45) 

 

Q.No. 
6 

 

C¢v¯ A¯À|õmkU öPõÒøP \¢vUS® •UQ¯ ¤μa\øÚPøÍ Bμõ´P.   

Examine the major issues encountered by Indian foreign policy.  

Âøh / ANSWER 
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Q.No. 
7 

C¢v¯ Ea\ }v©ßÓzvß Aø©¨¤øÚ ÂÁ› ©ØÖ® ÷u]¯ }vzxøÓ £oPÐUPõÚ 

Bøn¯zvß AvPõμ[PÒ ©ØÖ® ö\¯À£õkPÒ £ØÔ öÁÎUöPõnºP.   

Give an account of the organisational structure of the Supreme Court in India and 
bring out the powers and functions of National Judicial Appointments Commission. 

Âøh / ANSWER 
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Q.No. 
8 

£g\õ¯zx μõä Aø©¨¦PÎß vÓø©¯ØÓ ö\¯À£õmiØPõÚ Põμn[PøÍ ÂÍUSP.

Explain the reasons for the ineffective performance of Panchayat Raj Institutions. 

Âøh / ANSWER 
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Q.No. 
9 

Si²›ø© \mh® 1955 °ß •UQ¯ ¤›ÄPøÍ ÂÍUSP. 

Explain the important provisions of the Citizenship Act, 1955. 

Âøh / ANSWER 
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¤›Ä — C 

SECTION — C 

 SÔ¨¦ : i) JÆöÁõ¸ ÂÚõÂØS® 150 ö\õØPÐUS ªPõ©À Âøh¯ÎUPÄ®. 

 Note :  Answer not exceeding 150 words each. 

   ii) JÆöÁõ¸ ÂÚõÂØS® £zx ©v¨ö£sPÒ. 
    Each question carries ten marks.          

    iii) öPõkUP¨£mkÒÍ |õßS ÂÚõUPÎÀ GøÁ÷¯Ý® ‰ßÖ  ÂÚõUPÐUS 

©mk® Âøh¯ÎUPÄ®. 
     Answer any three questions out of four questions.  

(3  10 = 30) 

Q.No. 
10 

“C¢v¯ £¸ÁPõØÖPÒ ©ø»PÍõÀ £õvUP¨£kQßÓÚ” – GkzxUPõmkPÐhß ÂÁõv. 

“Indian Monsoons are influenced by Mountains” – Discuss with Examples. 

Âøh / ANSWER 
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Q.No. 
11 

 

C¢v¯õÂß £Ê¨¦ {»UP› {»[PÒ £ØÔ ÂÍUSP. 

Enumerate on lignite coal fields in India.  

Âøh / ANSWER 
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Q.No. 
12 

¦Â°ß EÒÍø©¨¦ £ØÔ J¸ Â›ÁõÚ ÂÍUPÄøμ GÊxP. 

Write a detailed account on the Internal structure of the Earth. 

Âøh / ANSWER 
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Q.No. 
13 

C¯ØøP ÁÍ[PøÍ AÈ¢x ÂkÁuõÀ HØ£k® ¤μa\øÚPÒ £ØÔ ÂÁ›. 

Explain the problems associated with the depletion Natural Resources.  

Âøh / ANSWER 
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¤›Ä — D  

SECTION — D  

 SÔ¨¦ : i) JÆöÁõ¸ ÂÚõÂØS® 250 ö\õØPÐUS ªPõ©À Âøh¯ÎUPÄ®. 

 Note :  Answer not exceeding 250 words each. 

   ii) JÆöÁõ¸ ÂÚõÂØS® £vøÚ¢x ©v¨ö£sPÒ. 

    Each question carries fifteen marks.         

   iii) öPõkUP¨£mkÒÍ ‰ßÖ  ÂÚõUPÎÀ GøÁ÷¯Ý® Cμsk  ÂÚõUPÐUS 

©mk® Âøh¯ÎUPÄ®. 

    Answer any two  questions out of three questions.  
 (2  15 = 30) 

 

Q.No. 
14 

 

¦Â°À Põ» {ø» ©õØÓzvÚõÀ HØ£k® ÂøÍÄPøÍ ÂÁ›.   

Explain the consequences of climate change on the Earth surface. 

Âøh / ANSWER 
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Q.No. 
15 

}º £õxPõ¨¤ØPõÚ £À÷ÁÖ |hÁiUøPPøÍ Á›ø\¨£kzxP.   

List down the different measures for water conservation. 

Âøh / ANSWER 
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Q.No. 
16 

C¢v¯õÂß ©s ÁøPPøÍ ÂÍUSP. 

Explain the various types of soils in India.  

Âøh / ANSWER 
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A»S — II 

UNIT — II 

Answer EITHER Tamil questions (Section A and B) 

OR 

English questions (Section C and D) 

uªÌ ÂÚõUPÐU÷Põ (¤›Ä – A ©ØÖ® B) 

(AÀ»x) 

B[Q» ÂÚõUPÐU÷Põ (¤›Ä – C ©ØÖ® D) Âøh¯ÎUPÄ®. 

¤›Ä — A 

SECTION — A 

(uªÈÀ ©mk® Âøh¯ÎUPÄ®) 

 SÔ¨¦ : i) JÆöÁõ¸ ÂÚõÂØS® 150 ö\õØPÐUS ªPõ©À Âøh¯ÎUPÄ®. 

 Note : ii) JÆöÁõ¸ ÂÚõÂØS® £zx ©v¨ö£sPÒ. 

   iii) öPõkUP¨£mkÒÍ I¢x ÂÚõUPÎÀ GøÁ÷¯Ý® |õßS  ÂÚõUPÐUS 

©mk® Âøh¯ÎUPÄ®. 

(4  10 = 40) 

Q.No. 
17 

÷Põmøh ©v¼¾ÒÍ ö£õÔPÒ SÔzxa ]»¨£vPõμ® _mkÁÚ ¯õøÁ? 

Âøh / ANSWER 
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Q.No. 
18 

 

Põn£zv¯® – SÔ¨¦ ÁøμP. 

Âøh / ANSWER 
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Q.No. 
19 

ø\Á \©¯ \õzvμ ¡ÀPøÍ¨ £ØÔ GÊxP. 

Âøh / ANSWER 
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Q.No. 
20 

ö\¨¦¨ £i©[PÒ – SÔ¨¦ ÁøμP. 

Âøh / ANSWER 
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Q.No. 
21 

^Ú¨ £¯o ²Áõß–_Áõ[ £¯nU SÔ¨¦PÒ – SÔ¨¦ ÁøμP. 

Âøh / ANSWER 
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¤›Ä — B  

SECTION — B  
(uªÈÀ ©mk® Âøh¯ÎUPÄ®) 

 SÔ¨¦ : i) JÆöÁõ¸ ÂÚõÂØS® 250 ö\õØPÐUS ªPõ©À Âøh¯ÎUPÄ®. 

 Note : ii) JÆöÁõ¸ ÂÚõÂØS® £vøÚ¢x ©v¨ö£sPÒ. 

   iii) öPõkUP¨£mkÒÍ ‰ßÖ  ÂÚõUPÎÀ GøÁ÷¯Ý® Cμsk  ÂÚõUPÐUS 

©mk® Âøh¯ÎUPÄ®. 

     (2  15 = 30) 
 

Q.No. 
22 

uªÇ›ß ]Ø£UPø»°ß ]Ó¨¦ A®\[PÒ – ÂÍUSP. 

Âøh / ANSWER 
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Q.No. 
23 

 

|õmk¨¦Ó {PÌzxUPø»PÒ SÔzöuÊxP. 

Âøh / ANSWER 
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Q.No. 
24 

uªÇ›ß CÓ¨¦a \h[SPÍõP¨ ¦Ó|õÞÖ _mkÁÚÁØøÓz öuõSzöuÊxP. 

Âøh / ANSWER 
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¤›Ä — C 

SECTION — C 

(Should be answered only in English) 

 SÔ¨¦ : i) Answer not exceeding 150 words each. 

 Note : ii) Each question carries ten marks.          
   iii) Answer any four questions out of five questions.  

     
(4  10 = 40) 

Q.No. 
25 

Make a precis of the following paragraph : 

The theory of the DNA code leads to important expectations regarding the feasibility 
of technological control over inheritance. If the nucleotide sequence of DNA were 
indeed a self – sufficient source of the inherited specificity of living things, then it 
might be possible in the not too distant future, to synthesize artificial DNA 
molecules, which on being introduced into living organisms would  artificially 
establish new inheritable characteristics quite outside the range of those normally 
observed.  

The “Bootstrap Universe” theory suggests that the unique properties of the atomic 
nucleus are inherently associated with its complexity,  and are not accountable by 
the observed properties of fragments isolated from disrupted nuclei.    

It may be suggested that if biology is to be guided by the insights into the properties 
of matter that are afforded by modern physical theory, the role of DNA in the living 
cell must be viewed as subsumed under the complex properties of the system – the 
living cell – of which functional DNA is a part. 

The theory of the DNA code is epitomized by the statement “DNA is the secret of 
life” an aphorism which appears increasingly to guide the course of current 
biological investigations. The view point developed here suggests that biology might 
be more wisely guided by the aphorism “Life is the secret of DNA”.  

Âøh / ANSWER 
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Q.No. 
26 

 

Make a precis of the following paragraph : 

The Great War of 1914 which lasted for nearly 1,565 days had far – reaching 
consequences. It was different from the wars that preceded it. In all previous conflicts
between states, the armies of the belligerents fought and engaged themselves in the
unproductive activity of organized destruction. But the first world war was the first
war of its kind in which all the resources of the countries involved were mobilized. It
was not merely a clash of contending armies, it was “Total War”. Judging from its
results the price of the war was also staggering. Nearly four crore fourteen lakhs
thirty five thousand people – civil and military –died in the war according to an 
estimate taken in 1931 by Inter – Parliamentary Union of Enquiry. In the words of
Langsam, “More than twice as many were killed in battle during the first World war
as in all the major wars from 1790 to 1913 together including the Napoleonic Wars,
the Crimean War, the Danish War of 1864, the Austro – Prussian War, the American 
War between States, the Franco – Prussian War, the Boer War, the Russo – Japanese 
War, and the Balkan Wars. Equally damaging were the monetary cost of the battles
and the loss in property. According to a rough calculation the cost of the war in terms
of money for all the belligerents was 186 million dollars. The war resulted in the
economic exhaustion of Europe. 

Âøh / ANSWER 
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Q.No. 
27 

Read the following passage carefully and answer the questions given below : 

UNCRC is the United Nation Conventions on the Rights of the Child. It was founded
in 1989. Broadly the historical significance of the UNCRC is three fold. First, it
marked the culmination of over a decade – long protracted struggle to improve the 
lives of children. Second, the international community simply,  recognized children as
subjects rather than objects of international law. Third, the convention was to change
the traditional interest between the State, Adults and Children. Crucially, the
convention removed children’s invisibility and silence on both the national and
international stages.  

Comprehension Questions : 

1. The author talks about a ten year struggle. What is it?  

2. What did the international community recognize children as?  

3. What is the third historical significance of UNCRC? 

4. What is it that the convention strove to remove? 

5. What is UNCRC? 

Âøh / ANSWER 
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Q.No. 
28 

Read the following passage carefully and answer the questions given below : 

Over the years, the tribals have suffered since 1947, mostly due to the 
modernization of India. Until then, happy in the care of forests and forest life, their 
innocence and simple living faced the iron hand of the Government of India who 
started developmental projects in tribal areas. It created a sense of deprivation 
among the tribals who had to be displaced. The Land Acquisition Act has nothing to 
say on rehabilitation of the displaced persons or on a satisfactory relocation. They 
were just ousted from their habitats. Later a comprehensive National Policy was 
considered  by the Government of India for Tribal Welfare. 

Comprehension Questions : 

Answer all the questions in complete sentences.  

1. Since when have the tribals suffered?  

2. Why did they suffer?  

3. How did the tribals live earlier?  

4. How did the developmental projects affect the tribals? 

5. What measure did the Government of India take? 

Âøh / ANSWER 
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Q.No. 
29 

Read the following passage carefully and answer the questions given below : 

Education is the recurrent request of Indian Women. One village women said “we 
want to read and write like you”. Most of the teachers in rural schools echo the same 
thought with the same passion – to educate girls as much as the boys are educated. 
Today, once a person gets basic education it is very easy to browse the net, google 
and look for more information. One doesn’t need a teacher or a library. Information 
boom and knowledge boom is of such extent that one only needs to make up one’s 
mind and self empowerment is right around the corner. It is now in the hands of the 
women to make the best use of their opportunities. Their fundamental requirement 
however is to obtain basic education.   

Comprehension Questions : 

 (All questions should be answered in full sentences) 

1. What is the recurrent request of the Indian Women?  

2. What is the plea of the teachers? 

3. Where can we find information? 

4. What is the result of information boom?  

5. In what way is technology useful for women?  

Âøh / ANSWER 
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¤›Ä — D  

SECTION — D  

(Should be answered only in English) 

 SÔ¨¦ : i) Answer not exceeding 250 words each. 

 Note : ii) Each question carries fifteen marks.          
   iii) Answer any two questions out of three questions. 

     (2  15 = 30) 
 

Q.No. 
30 

Write a report on the Gaja Cyclone that wrecked Tamil Nadu in the year 2017. 

Âøh / ANSWER 
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Q.No. 
31 

 

Write a report on the closure of Engineering Colleges since the Yr 2017 (over the 
past 2 years).  

Âøh / ANSWER 
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Q.No. 
32 

Write a report on providing a basic salary to the unorganized sector (Minimum 
Wages). 

Âøh / ANSWER 

 

 

 

 

 

 

 

 

 

 

 

 

TN
PS

C
 - 

SP
EC

IM
EN



  

  DEOM2–19 
[v¸¨¦P/Turn over 

71

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

TN
PS

C
 - 

SP
EC

IM
EN



 

DEOM2–19 
  

72

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

TN
PS

C
 - 

SP
EC

IM
EN



 

  DEOM2–19 
[v¸¨¦P/Turn over 

73

A»S — III 

UNIT — III 

¤›Ä — A 

SECTION — A 

 SÔ¨¦ : i) JÆöÁõ¸ ÂÚõÂØS® 150 ö\õØPÐUS ªPõ©À Âøh¯ÎUPÄ®. 
 Note :  Answer not exceeding 150 words each. 
   ii) JÆöÁõ¸ ÂÚõÂØS® £zx ©v¨ö£sPÒ. 
    Each question carries ten marks.          
    iii) öPõkUP¨£mkÒÍ I¢x ÂÚõUPÎÀ GøÁ÷¯Ý® |õßS ÂÚõUPÐUS 

©mk® Âøh¯ÎUPÄ®. 
     Answer any four questions out of five questions.  

(4  10 = 40) 

Q.No. 
33 

uªÌ|õk SUQμõ©[PÒ ÷©®£õmk vmhzvß (THAI vmh®) ÷|õUP® ©ØÖ® 

]Ó¨£®\[PøÍ £ØÔ ÂÁõv. 

Discuss the objectives and features of Tamilnadu Village Habitations Improvement 
(THAI) scheme.  

Âøh / ANSWER 
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Q.No. 
34 

©zv¯ Aμ_US® ©õ{» Aμ_USªøh÷¯¯õÚ \mh©ßÓ EÓÄPÒ SÔzx £S¨£õ´P. 

Analyse the legislative relations between the Centre and the States.  

Âøh / ANSWER 
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Q.No. 
35 

C¢v¯ ªß BÐøP°À ©õ{» uPÁÀ ø©¯[PÎß £[S SÔzx ÂÁõv. 

Discuss the role of State Data Centre (SDC) in Indian e-governance.  

Âøh / ANSWER 
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Q.No. 
36 

‘C¢v¯õ÷Á GÊ¢x {À’ vmhzvß uõUP® £ØÔ ÂÁõvUP. 

Discuss the impact of ‘Stand–up–India’ scheme. 

Âøh / ANSWER 
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Q.No. 
37 

¤μõ¢v¯ FμP Á[QPÎß (RRBs) ]Ó¨¦zxÁ® £ØÔ ÂÁõvUP. 

Discuss the significance  of Regional Rural Banks (RRBs). 

Âøh / ANSWER 
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¤›Ä — B  

SECTION — B  

 SÔ¨¦ : i) JÆöÁõ¸ ÂÚõÂØS® 250 ö\õØPÐUS ªPõ©À Âøh¯ÎUPÄ®. 

 Note :  Answer not exceeding 250 words each. 

   ii) JÆöÁõ¸ ÂÚõÂØS® £vøÚ¢x ©v¨ö£sPÒ. 

    Each question carries fifteen marks.         

   iii) öPõkUP¨£mkÒÍ |õßS ÂÚõUPÎÀ GøÁ÷¯Ý® ‰ßÖ ÂÚõUPÐUS 

©mk® Âøh¯ÎUPÄ®. 

    Answer any three questions out of four questions.  
 (3  15 = 45) 

 

Q.No. 
38 

uªÇP Aμ_ ‘ö|QÈ ©õ\ØÓ uªÌ|õk’ GßÓ uÚx C»UQøÚ Aøh¯ uªÇP ©UPÎß 

£[PÎ¨¦ GßÚÁõP C¸UP ÷Ásk®? 

What should be the contribution of people to the State Government’s goal of 
achieving plastic pollution free Tamilnadu? 

Âøh / ANSWER 
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Q.No. 
39 

C¢v¯õÂß ªß BÐøP°À EÒÍ ¤μa\øÚPÒ ©ØÖ® \ÁõÀPÒ SÔzx £S¨£õ´P. 

Analyse the issues and challenges of e-governance in India. 

Âøh / ANSWER 
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Q.No. 
40 

{v B÷¯õU ÷©®£õmk •øÓø©UPõÚ J¸ ÂøÚ³UQ GÚ P¸u¨£kQÓx, £Szuõ´P.

NITI Aayog is considered as a catalyst to development process. Analyse.  

Âøh / ANSWER 

 

 

 

 

 

 

 

 

 

 

 

 

 

TN
PS

C
 - 

SP
EC

IM
EN



  

  DEOM2–19 
[v¸¨¦P/Turn over 

87

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

TN
PS

C
 - 

SP
EC

IM
EN



 

DEOM2–19 
  

88

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 TN
PS

C
 - 

SP
EC

IM
EN



  

  DEOM2–19 
[v¸¨¦P/Turn over 

89

Q.No. 
41 

 

C¢v¯õÂÀ Siø© E›ø©PÒ £õxPõ¨¤ß ö\¯»õUP® £ØÔ ©v¨¤kP. 

Assess the implementation of protection of Civil Rights in India. 

Âøh / ANSWER 
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SPACE FOR ROUGH WORK   
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